Chapter 6 Assignment

Discrete Probability Distributions

Name _______________________________________ Section _________
Score _______

Part I

Select the correct answer and write the appropriate letter in the space provided.

______ 1.
A listing of all possible outcomes of an experiment and the corresponding probability is called:



a.
a random variable.
b.
a probability distribution.



c.
the normal rule.
d.
the complement rule.

______ 2.
A probability distribution that can assume only certain values within a range is called



a.
a Poisson probability distribution.
b.
a continuous probability distribution.



c.
a random variable.
d.
a discrete probability distribution

.

______ 3.
Which of the following is not a requirement of the binomial distribution?



a.
the trials must be independent



b.
the probability of a success changes from one trial to the next



c.
the sample size must be fixed



d.
only two outcomes are possible

______ 4.
The mean of a discrete probability distribution is also called the



a.
variance.
b.
expected value.



c.
standard deviation.
d.
median.

______ 5.
Which of the following statements is true about a Poisson probability distribution?



a.
The outcome of one trial affects the outcome of another trial.



b.
The sample size is small.



c.
 Probability changes after each trial.



d.
 Can sometimes be used to approximate a binomial probability distribution.

______ 6.
Which distribution would be most appropriate if one wanted to find the probability of selecting three Republicans from a sample of 15 politicians?



a.
binomial
b.
continuous



c.
hypergeometric
d.
Poisson

______ 7.
A discrete distribution is usually the result of



a.
a measurement.
b.
a count.



c.
a small sample.
d.
a small probability.

______ 8.
Which of the following is not a requirement for a discrete probability distribution?



a.
The trials are independent.



b.
The probability of each outcome is between 0 and 1.00.



c.
The outcomes are mutually exclusive.



d.
The sum of the probabilities is equal to 1.00.

______ 9.
To construct a binomial probability distribution, we need to know



a.
the mean and standard deviation.
b.
only the mean.



c.
the size of the sample.
d.
the number of trials and probability of 






success.

______ 10.The difference between the binomial distribution and the hypergeometric distribution is



a.
the binomial requires a large sample.



b.
the mean and the variance are equal for the binomial.



c.
the probability of a success is not the same for all trials in the hypergeometric.



d.
the trials are not independent for the binomial.

Part II

	Number of times
	    Proportion

	0
	0.1

	1
	0.2

	2
	0.1

	3
	0.4

	4
	0.2


Using the appropriate distribution answer the following questions. Show all your work. Write your answer in the answer box provided.


11.
The number of connections on the Internet during any two-minute period is given by the distribution on the right.


a.
Determine the mean number of times a connection is made during a two-minute period.

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	



b.
Determine the standard deviation of the number of connections made during a two-minute period.

12.
According to a recent survey, 75% of all customers will return to the same grocery store.  Suppose eight customers are selected at random, what is the probability that:

a.
exactly five of the customers will return?

b.
all eight will return?

c.
at least seven will return?

d.
at least one will return?

e.
How many customers would be expected to return to the same store?

13.
Eighty percent of trees planted by a woodlands conservation group survive.  What is the probability that:

a.
10 of the 12 trees just planted will survive?

b.
at least 10 of the trees just planted will survive?

14.
Customers use an automatic teller machine at an average rate of 15 per hour.  What is the probability that exactly 12 will use the machine in the next hour?

15.
On average two new checking accounts are opened per day at the Farmer’s Bank. What is the likelihood that for a particular day:

a.
no new accounts are opened?

b.
at least one new account is opened?

16.
A management team is comprised of six sales managers and four floor employees.  A subcommittee of four is being formed to handle labor negotiations.  What is the probability that two sales managers and two floor employees are selected?

17.
In a statistics class with 15 males and 13 females, five students are selected to put problems on the board. What is the probability that:

a.
3 females and 2 males are selected?

b.
all five students selected are males?

c.
all five students selected are females?

d.
at least one male is selected?
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